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ff was held vertically,, 2N
st Station 5@ Bearing | Vertical angle Staff readings
" 1.360, 1.915, 2,470
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Note: Answer any FIVE full quzﬁnm%&ny ONE full question fgom each module.
E e d Reiteration method.
i i b i i on
Explain the procedure of me orizontal angle by . n an ot
Define the following te F A 7
()  Centring m%‘n Transiting : ;%IJ Changing face
{iv) Swinging Q {v) Lineofcollim o } (06 Marks)
Write the short nnwﬂ step by step procedure fopobtaining permanent adjustment of transit
theodolite, ‘4» {06 Marks)
&

ation of the top (Q) ofa hill, a flag staff of 2 m height was erected and
observ -were made from 2 statifihs P-and R, 60 m apag, The horizontal angle measured
at P en R and the top of llgc_ﬂﬂ tafT was 60°30' afit Jthat measured at R between the
top of the flags staff'and P was 68°18' . The angle of ﬂ]_iﬂiﬁﬁl‘l to the top of the flag staff was
measured to be 10°12° at P, Theé angle of elevationifo.thie.top of the flag:staff was measured

to be 10°48'at R. Stafl reddings on B.M. when {,_I;ia.-jnsirurnunt was #LR ='1.965 m and that
with the instrument at R@nzfﬂﬁ m. Caleulate the*elevation of the top of the hill if that of
b Wy ¢ (10 Marks)

B.M. was 435.065 m. - Y _
Derive expression.for‘determining the distance and ﬂIewtinq'qiun inaccessible object by
single plane me ume instrument dxeS at the same leveliand different level, (10 Marks)

1‘\\}
£ ¢
s : @lﬂ_ S
Derive ce and elevation ulac for stadia ta Ometry, when staff held normal to the
line o E; for both an angleaf efevation and ang?E*uch;:r-:ssinn, (10 Marks)
Dete the gradient fropyp int A to a point B from the following observations made with

a taghcometer fitted wit_@ﬂﬁnﬂul!ﬂ:ﬂh lens. % constant of the instrument was 100 and the

To find

P &&-" 134 #+10°32'
2 | 224° +5° 36" 1.065, 1,885, 2,705
(10 Marks)

d 'ai

b.
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List the va(r‘iks factors %a:‘ﬁ to be considered in the selection of site for baseline in

triangulation survey, (04 Marks)
Write the objectives ﬂf‘!ﬁ‘% etic Triangulation and briefly explain the various triangulation
figures adopted in n-ian“gulntiun survey with neat sketch, (10 Marks)

From an eccentri_ ation §, 12,25 m to the west of the main station B, the following angles
were measu A -_Sf’Jz?ﬁ'ES'SE", ZCSA =5432'20". The stations S and C are to the
opposile sides'0Fthe line AB. Calculate the correct angle ABC if the lengths AB and BC are
5286.5 m ands932.2 m respectively. (06 Marks)
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" : rve, explain (i) point of curve
5 o With the help of neat sketch of a simple cirgular T a0 Anex dista

(ii) deflection angle (iii) tangent length (iv) | (06 Marks)
(vi) Mid ordinate : 0 lnte all the

b. Two tangents AB and BC intersect at a poif ut _r.:hmnnge 276 Calcu lc i o
necessary data for setting out a curve m radius and defle B9 Sy
interval. (08 Marks)

method of ordinates from lang chord at
€. Two strnights AB and BC are inters by a line DD, The anglessADyD; and C D, D, are
m and that of the second

139°30' and 143° 36' respectively /The rdius of the first arc i R
arc is 800 m, If the chainage of {q;t'?ﬂﬂd arc is 800 m, If inage of Int NN Qe

B is 8248.1. Find the chaina tangent points and the Foint of Compound Curvature
(P.LO) F‘v ’ (06 Marks)
¢ Q
) OR A

6 a. Two paralle]l railway | arc to be connecied by a reverse curve, cach scction having 'lhl:'
same radius, If m{fﬁpa are 12 m apart and the maximum distance between tangent points

measured parallfito the straights is 48 m, fjfni the maximum allowable radius. If however,

both the radiug are'fo be different. calculafe:the radius of the second branch if that of the first

branch is JAlso calculate the length of both the branches. (10 Marks)
b.  What agefthe requirements of an essential transition curve? (06 Marks)
(04 Marks)

€. Witha neat’skerch, list any four E:E‘ﬂ curves. £
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¢ Module-4 1 :r'h..,_.

7 a. A vertical photograph l:';;%l‘wn at an altitude ofsf 00 m above mear, seg’fevel. Determine
the scale of the photogy or terrain lying at_EleVations of 80 m and 300 m if the focal

length of the camera is | 5'¢m, Ay, ® ¢ (08 Marks)
b. Derive the e:lcpress_i!un for relief displacemefiton’a vertical photggraph. (06 Marks)
€. List the reasons th&éceping overlap in photographs. e, g (06 Marks)
’ Iﬂ‘- 4 '1.' -'t‘u
g, 0 {,f}“-dﬂ ¢
8 a Dﬂﬁn: (i) Verlical ph:lrmgra,uh i) Tiled photography {iii) Oblique photograph. (06 Marks)
b. Write note on ; _{:} Sler::uﬂsc_upi: (11) Parallax Bar® (i) Mosaics (08 Marks)
c. The of an aerial pl'éqghggaph is 1 em = 160 m and the size of the photograph is
EE.;, ?En x20 cm. lﬁ the iufng_rm_c!mnl lap is 65%.and side lab js 3595 determine the number of
L - g i
Q graphs mqmm’d__hl?,f%“ an area crf._.':’sl': sq.km, (06 Murks)
4:; )
. .r*'LI o Mﬂ'!!lllﬂ-ﬁ
9 a Mention the ad vagujes of lotal statjon and describe its working principle, (08 M
b. With nea sk e:l.cpIain the uluctf?m;gnctic spectrum. 06 Mnﬂm
c. Explain eriction of ull':clmil"ﬁ"ﬂgnc[fc waves with atmosphere. :uﬁ “:f:
[} 5
¢
10 a. Define Re S QE X
© eine Remote Sensing? Explain the stages of idealized remote ]
b. With a neat sketch, exﬁ%thc components of GIS. R s B o Mchy
¢. Listout the applicationof GIS and Remote Sensing, (06 Marc)
(06 Marks)

8 e

4@ ' 2 of 2 | {ﬁft‘%

N



